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Predict the structure and stereochemistry of the products that would be obtained
under the specified reaction conditions. Explain the basis of your prediction.
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2) ICH,CH=CHCO,C(CH3)s
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1.3. Suggest reagents and reaction conditions that would be suitable for effecting
each of the following conversions.
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Intramolecular alkylation of enolates can be used to synthesize bi- and tricyclic
compounds. Identify all the bonds in the following compounds that could be
formed by intramolecular enolate alkylation. Select the one that you think is
most likely to succeed and suggest reasonable reactants and reaction conditions
for cyclization.

(a) (c) CO,CH; (e) CH,
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Predict the major product of each of the following reactions:

(a) Ph(llHGDEEt (1) 1 equiv LINH./MNH;

CH,CO,Et (2) CH4l
(b) Ph‘mezEt (1) 2 equiv LiNH,/NH,
CH,CO,Et (2) CHyl

(c) Ph(llHCDEH (1) 2 equiv LINH,/NH4
CH,CO,Et (2) CH,l
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Perform a retrosynthetic dissection of each of the following compounds to
the suggested starting material using reactions that involve alkylation of an
enolate or an enolate equivalent. Then suggest a sequence of reactions that

you think would succeed in converting the suggested starting material to the
desired product.
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One of the compounds shown below undergoes intramolecular cyclization to
give a tricyclic ketone on being treated with NaHMDS, but the other does
not cyclize. Indicate which compound will cyclize more readily and offer and
explanation.

0

GHEGHEGHEDTE GHEG HEG HEDTE









Predict the product formed in each of the following reactions:

1) LiN(i-Pr),, -78°C

2) CH,CH,CHO, 15 min
3)H,0

O
(c) CH,CH,CH Ey}CH3 CgH;:0,
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Indicate reaction conditions or a series of reactions that could effect each of
the following synthetic conversions:
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The first few steps in a synthesis of the alkaloid conessine produce 9B, starting
from 9A. Suggest a sequence of reactions for effecting this conversion.
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d. Reaction of the lithium anion of 3-methoxy-2-methylcyclopentanone with
methyl acrylate gives the two products shown as an 82:18 mixture. Alkaline
hydrolysis of the mixture gives a single pure product. How is the minor
product formed and how is it converted to the hydrolysis product?
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